1/1

KIRRT =2 (IBTA)  — L T NVARAL TR T
20211 H30H KESEEZES BPEREHY

T2 L YT = A —T A PR it R k) (TARAL NF100%aFfli 202 L4575 438 {+)
HTHE r—TF A ESEENSESE
JIE _ IBTA | JTA [&FcEl & Ao | IBTA| JTA -
4ﬁ EE % Fﬁ, E e .]NO RE] ﬂ}]ﬁﬁéﬁ REl ?}FEZE %$D2ﬂ5}—§: NE) ﬂ;g?téﬁ P J P /E1\ﬁ+
I I ¥ ZS I}
ol Pl Pl P | PP

HIERINEEESR CSJ 3424 [F50234] 1 | 23 23 [4882] 4905
2 | 2 PR W NJTC 2950 [F50673] 2 T14a] 8 1 5 2 [ 7 26 35] 61
313 I 5 CSJ 1580 [F09646 1 [ 23 4 17130 0 30
4 1 4 [BF = T-1 7225 4 1 71815 1|14 26 26
5 | 5 A Z=R TP 3945 [F50095] 16 | 3 T 16 3 8$ | 3 9 14 | 23
6 | 6 [INAE EiA& KCJTA 7552 2 14 14 14
77 P EE KkFEZYV—r | 5181 8 [ 5] 8]5 8 3 13 13
8 | 7 DK =T 7J9TC 6696 4 1 7116] 3 8 3 13 13
9 [ 9 [E Wik L ZKBETHTA 6591 6] 3 ]16] 3 415 11 11
10 /vl x| oo adh—2 1260 [FL0154] 8 [ 5] 8 [ 5 10 0 10
NENE e TP 1900 [F11087[ 16 3 T 16 [ 3 8$ | 3 9 0 9
12 |1 Fusk H S A=%D 463 16 3 415 8 8

13 [fhil FEZS S AB%= [ 7160 4 [ 7 7 7

13 /N BEE AschTA 6498 417 7 7

15 | K A EETEEINAS 5399 6] 3 [16]3 6 6

15 |HAR A R I 579 6 3116 3 6 6

17 A fiiv- AT 4T 3810 8 [ 5 5 5

17 | ARH EE JAC 6980 8 |5 5 5

19 [VEEFE Hfd | P Ak | 5460 6] 3 3 3

19 [/I4k &b T —ATA 748 16 ] 3 3 3

19 [ JEE 7 275 ABE | 7561 16 | 3 3 3

19 |NH JnE AL AR T TA 6] 3 3 3

X BRI OWT
W £t G LR AIBTARA L Mo TN T,
B AEERMIPT = A BB L TEY . JTA Noa A B IZHE L H o JTARA L M- T0 B,
W F7/E. IBTA No?DZE Hid, RA L MEFHRE sl CIRB SR AR Mea R (B 8% 2020/3/911)

OFGRTHE: T — N — VP —FEREDAREICHIGLZ5E6, TEiRE L RUAEEL 5,

¥ RM—T A MRIE: QLS. QEE)IL TR C UL, EIC X IRA NI,

X OSENFMIER AR A b,




